
27/4/2020 
 

A1) 3
3

8
 + 

1

2
 = 3

7

8
 

 

A2) 2
7

9
 + 

1

3
 = 3

1

9
 

 

A3) 1
4

5
 + 

7

10
 = 2

5

10
 or 2

1

2
 

 

A4) 4
2

3
 + 

3

4
 = 5

5

12
 

 
 

B1) 2
5

6
 - 

1

2
 = 2

2

6
 or 2

1

3
 

 

B2) 3
2

8
 - 

3

4
 = 2

4

8
 or 2

1

2
 

 

B3) 1
5

7
 - 

13

14
 = 

11

14
 

 

B4) 4
1

3
 - 2

5

7
 = 1

13

21
 

 

C1) 1
4

5
 + 2

1

3
 = 4

2

15
 

 

C2) 3
1

2
 - 1

4

5
 = 1

7

10
 

 

C3) 2
2

3
 - 1

1

8
 = 1

14

24
 or 1

7

12
 

 

C4) 4
7

12
 + 1

4

5
 = 

383

60
 or 6

23

60
 

 

 
D1) Complete the addition square. Each row adds up 
at the side and each column adds up at the bottom. 
 

 


